EAad2aEs? 102828 % 2= AR KFIERTRES
FRTIEEREENE XL LR AEsLieE 014 15. 485 SiE4EL A Ed B

L YRR IR 2 £ ABC : AB=AC > D7 AC > BD OAC » AD % CDfiu= " 145,
’ ==2 —z A s==gam nr =
Wi BD =87 - ,iﬁ’?gjiﬁﬁpxj EI AC A fiuf | [HEL{r?

2. r%abcdDRrr d#0 - F HHEX -4x3+ax’ +bx+10=0% [P c+di e+2di - Efa,b,c,d fiY

fill

3. DMEIEIOABCH > OCOOA > OC OB » JAOB=120" » *' OB=20A=20C > “I4IM E.T'LA_C;'/HI%ﬂT’

H 7 AB - % MH O AB ,¢—tf[F[

4. R > = P ABC I » OBAC HGjfi > AEOBC » BD=DC=EC=1> ] AC VX -
A
D

E

5. FEElla a8, s 15~ «F"Ft 50,1, -1, 255 =2 > [l[la, xa, x 8, X: - X 8y, Y[l € ZHFE ' F=?

6. T ELZ IEla,b, CaB=hiE - -

‘ 20, ‘b‘ 15, ‘a b‘ 7 Fai c FV-SYR -

7. [ ]4387 ABCD » AC FEI.V % » OBAC=a,0DAC = > ¥ BD =10, 0BAD =45 > = AABC|"
[ 1% £ AACD [ Y XIDF*I ' IR AABC VIS -

8. /% ABCD - & HIABj = CD > LI p[%ﬂ b 45 F 2 EAVTHAEZOTHEL 0 ABi T x+2y-1=0 >
BC3 : 2x-y-7=0 > AD % : 2x+y-2=0 > ]V CD Hri fUias h A= «

9. F4<x<100 = log3xfiv='FkLlog x G 2 fif - o i -

10. PRI P(x, ) ElfAstx = ~1OBEERLEIREF (L O) (OBHESV K £ (k>0)» MK FGEIRTP e ) -

" L S - BB SRR "

1




11.

12.

13.

14.

15.

16.

18.

EAad2aEs? 102828 % 2= AR KFIERTRES
SRFI ) 8 S IR O MERISR - 10 MRS 27 BESR o 4 IERREIIUER - — SWIV- S JVET R R
SR LIV PSR K 2

X-2 y+1 z-2

PR FI2X-y+22=0 F o= L Z T T U | REEEERT, /35 FUIAE R o

AT DR 0(0,0), ACLO), B(O.D), C(t,0) - HI[[10<t<1 @D AB I~ = DACD =[BCO
fit=af - ABCD il S - FErEH(a, S) -

l%@m‘ﬁkx+ y—-8=0=y=2"» y=log, X 7 | &4 P(a,b) , Q(c,d) ij&ﬁ SOk ;%L%F PP T
(A)a>2 (B)c>6 ©2'=b (D) AOPQ fif i+ 4% 20

s 6 s 7 DI R IS AR S TSR (- A -

| (@) [ (®) |©)
® 7,0/ T FAH T FT AL

CIHIP EE P [T [E3ENZE 28 JF“tr,_ » TOHEEL YT (i FRpRS R ﬁg T J;FEIFI [ 484 Jﬂ'

OOlI—‘

T > R

(WP IRPER - F O R

BYEI |y > = FEEA R (@) - ﬁﬁ@ﬁ@W%$EW
OB @1 T @ﬁﬁ$”$}t“—

(mﬁﬂwﬁmﬂﬁﬁﬁiﬁ’ww‘jﬁWﬁ§FF%W%$%mg

[F[* £ 1387 ABCD {1 - AB=3,BC =5,CD =8, DALDC =20 - [P Hi]“i£% ABCD ']~ i~ BiP %
AB,BC,CD, DAfUsHEE S G a, b, c,d » 198 +b” +16¢° +d? e | fif -

~ {1 ABCD > H[[IAB=CD =5 » AC=BD =41 > AD=BC=+/34 » o[BI ofEiRs -

3 =1
RIS &, =1 o= qgta, o (JnAa)
8, =8y + 2, N21
| 2 %P o 5w g |
2




